H & 0l & AHS B Ml A

SN OISR
M o= Jlet =4
&t LoISIAE 29 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fe=X 210,079,237 191,530,226 18,549,011
= 172,930,044
[ 761,817
Al 27,645,931
- 8,741,445
oI=X Jlg x4 180,286,176 165,221,772 15,064,404
= 161,084,799
[ 119,940
Al 22,775,472
- 6,305,965
LOI=EXAE 29 3,357,646 3,095,776 261,870
= 702,000
Al 2,399,749
- 255,897
A= 0 780,000 690,000 90,000
= 702,000
Al 78,000
307 elztol & 780,000 690,000 90,000
= 702,000
Al 78,000
11 AMEISXAIEEXS 780,000 690,000 90,000
A= 780,000
= 702,000
Al 78,000
CO=AAIE MelF22E SAH X 36,960 36,960 0
301 22N = 36,960 36,960
0 AR=SR2E= 36,960 36,960
COEXAIE Al ERF SA|
7,000 x22E*202 * 122 36,960
LolXZAlE 2HH| X (HEAIY) 989,946 866,189 123,757
Al 989,946
307 212+01& 989,946 866,189 123,757
Al 989,946
10 Al SXAZEE 22X 989,946 866,189 123,757
LOIZZAIE 2EH] 921,899
Al 921,899
ColdZ Al4 OF2tAH| 2lAH| 47,247
Al 47,247
LQILZAIE SALL =EXI=E 19,200
Al 19,200
COIAZ AL SALA SXEUE X 1,600
Al 1,600
LRIQUAE SAL == XA 242,640 228,240 14,400




SN OISR
M o= Jlet =4
el LoSXAE 28 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 242,640
307 gl2tol & 242,640 228,240 14,400
Al 242,640
10 Al SXAEEHE2EHI 22X 242,640 228,240 14,400
CRIQAAE SAA =X+ 242,640
Al 242,640
o=k 2 737,488 718,899 18,589
Al 518,551
T 218,937
307 elztol & 737,488 718,899 18,589
Al 518,551
- 218,937
10 Al SAAEEHE 22X 737,488 718,899 18,589
oK 23 729,789
Al 510,852
- 218,937
LoISX2 SM SXEIE K& 1,400
Al 1,400
LIS AR Z22E 6,29
Al 6,299
Mot ISXAIE 2 570,612 565,483 15,124
Al 570,612
307 elztol & 570,612 565,488 15,124
Al 570,612
10 AlISXAZEE 22X 570,612 565,488 15,124
MIt=QISXIAIE 23| 570,612
Al 570,612
LoI=X S8 176,928,530 162,125,996 14,802,534
= 160,382,799
= 119,940
Al 20,375,723
- 6,050,068
DIESGI=IONI= 165,859,411 142,248,205 13,611,206
= 140,273,470
Al 14,027,347
- 1,558,594
301 Eet2 NS 155,859,411 142,248,205 13,611,206
= 140,273,470
Al 14,027,347
- 1,558,594
01 Al EE A S (2 RDEERA) 185,859,411 142,248,205 13,611,206
DIESI=INI=, 165,859,411
= 140,273,470




SN OISR
2 OISR J|g &4
Celr LRI=X E& EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 14,027,347
- 1,558,594
Lol EESMEIA X 3,687,530 3,291,260 396,270
= 2,581,260
Al 553,135
- 553,135
307 2I2+01A 3,687,530 3,291,260 396,270
= 2,581,260
Al 553,135
- 553,135
11 AR SXAMEE R 3,687,530 3,291,260 396,270
LolgrEEsAMEIA KR 3,687,530
= 2,581,260
Al 553,135
- 553,135
SHLCIF0Cl SZeHM A I A 241,680 195,841 45,839
iy 119,940
Al 60,870
- 60,870
307 2I2+01™ 241,680 195,841 45,839
= 119,940
Al 60,870
- 60,870
11 Al =SXAMSEES 241,680 195,841 45,839
SHLEHL SSHE A MEIA 241,680
= 119,940
Al 60,870
- 60,870
Lol LEZAAY 675,920 675,920 0
Al 337,960
- 337,960
307 2I2+01™ 675,920 675,920 0
Al 337,960
- 337,960
11 AR SXAMEE R 675,920 675,920 0
LOIRZZIAMAY 675,920
Al 337,960
- 337,960
Lolwal S X 72,000 72,000 0
Al 43,200
- 28,800
307 212+01™ 72,000 72,000 0
Al 43,200




SN OISR
M o= Jet =4
gelr LoISX B8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 28,800
11 AMEISXAEEXS 72,000 72,000 0
Lolws 29 300, 0002 x20JH* 122 72,000
Al 43,200
- 28,800
AlLIOIZE 29 365,075 365,715 9,360
Al 310,829
T 54,246
307 glztol & 365,075 365,715 9,360
Al 310,829
- 54,246
10 Al SAAEEHE 22X 365,075 365,715 9,360
AlLIGZ2E =29 365,075
Al 310,829
- 54,246
celgXiel & AlIEsSAE 2 14,696,190 13,875,789 820,401
= 7,348,095
Al 4,408,857
- 2,939,238
307 @20l & 14,696,190 13,875,789 820,401
= 7,348,095
Al 4,408,857
- 2,939,238
05 2I2tRIE =S 14,696,190 13,875,789 820,401
ColRel & AllEsSXE & 14,696,190
= 7,348,095
Al 4,408,857
T 2,939,238
d=ed =29 N& 90,500 136,400 245,900
201 fer23y| 31,200 31,200 0
02 S3=gHl 31,200 31,200 0
SIIEEI| 72l S 31,200
301 LEtE NS 54,300 100,200 A\45,900
02 ANRI2HHSFS(HAAS, NLHE) 9,000 0 9,000
MNed2E HHEHYES Ot 9,000
4 JIEt2d= 45,300 91,200 /45,900
KNG SAX = 28 K&
50,0002 x151H+6E 45,300
405 Attt = 5,000 5,000
01 ML ESFSHI 5,000 5,000
s7d8zd =8 7¢ 5,000
d2d 29 243 513,376 524,076 10,700
Al 202,838




SN OISR
M o= Jet =4
gelr LoISX B8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 310,538
307 gl2tol & 499,376 469,076 30,300
Al 195,838
- 303,538
11 ARRIS XA E X 499,376 469,076 30,300
2% S22y 43| 25,000
Al 12,500
- 12,500
2 =3 X208 2|kt XA 40,516
Al 20,258
- 20,258
d2g 24gHl N 416,760
Al 163,080
- 253,680
DISE 229 23dls A& 17,100
401 Al HIZL 048I 14,000 55,000 241,000
Al 7,000
- 7,000
01 Al&H| 14,000 55,000 241,000
S5 Z2E e+ & 2FHd 14,000
Al 7,000
- 7,000
Z2E detEdl R =4l K& 369,948 289,990 69,958
= 179,974
Al 89,987
- 89,987
307 @20l & 359,948 289,990 69,958
= 179,974
Al 89,987
- 89,987
11 AMEISXAIEEXS 369,948 289,990 69,958
J2Y gy 8 2=y] 359,948
= 179,974
Al 89,987
T 89,987
SO/ COIMTH X 322,700 322,700 0
Al 322,700
301 2eEN=S 322,700 322,700 0
Al 322,700
02 NBI2HHSFS(HAAS, NLHE) 322,700 322,700 0
LoEIMN XI& 322,700
Al 322,700
CoI=AgR = 7,200 7,200 0
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SN OISR D
33 d=A &
Rl e s & IE=X EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 2,000 2,000 0
oImEm BEt Al XX S 2,000
HedZ Al &4 25,200 25,200
201 er23y| 25,200 25,200
01 AtR2t2|HI 25,200 25,200
HdaleteAl ZEEON S 2
100,000 +9&H 900
oot ADIESE otd2e| XI3AIY 15,000
HEZSEAMNEHE 28 & JS235 1
=3 3,900
CIMZIBICA A Y B2 S 4,000
SHHY OHANSEH 29 1,400
JHE =S Lok XIZ A 165,606 141,280 24,326
= 86,582
Al 79,024
307 lztol & 165,606 141,280 24,326
= 86,582
Al 79,024
10 Al SXAAIEEHE 22X 146,711 141,280 5,431
HEEFHYEA 28| 146,711
= 73,356
Al 73,355
11 AMISXAIEEX 18,895 0 18,895
JIEEE Ik XgssE2 )8 24 18,895
= 13,226
Al 5,669
4= oY g8 25 - 29 8,800 9,000 A200
201 er23 | 8,800 9,000 A200
01 At2teltl 8,800 9,000 A200
g =5 0l 540 75 - 29 8,800
ZZ30H0IF0E X A 35,200 35,200 0
= 35,200
307 elztol & 35,200 36,200 0
= 35,200
11 AMISXAIEEX 35,200 36,200 0
SEHOIENHd AZaeXIKREZ2OY 23 35,200
= 35,200
HE==Ulaiag4a SAHL AE 29,254 54,013 AN24,759
Al 29,254
307 lztol & 29,254 54,013 N24,759
Al 29,254
10 Al2ISTIAEEE2HIEX 29,254 54,013 N24,759
Hd==Iloi &g SAL SASE 29,254




SN OISR D
M =X 38
el odAey S 2 OESK (Gt H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
| Al 29,254
SIRRIIE NHHY=H S K& 4,769,950 3,774,250 995,700
= 3,815,960
Al 953,990
301 LBENZ 4,769,950 3,774,250 995,700
= 3,815,960
Al 953,990
01 MBI BEAG6Z2(2DEXTHA) 4,769,950 3,774,250 995,700
SIS Md 2=l & N& 4,769,950
= 3,815,960
Al 953,990
SHREIE AIHIXIRALS 165,675 175,250 29,575
Al 165,675
301 LetEAEZ 165,675 175,250 29,575
Al 165,675
02 ANSI2EHE S (FHUAHS, NSTHA) 165,675 175,250 29,575
SIRRIIE AHWSH|, &EEH| X 165,000
Al 165,000
SIS g AN A 675
Al 675
HAUEEREE Ttg K& 10,660 15,375 A4,715
= 8,528
Al 2,132
301 LEHBHEF 10,660 15,375 A4.715
= 8,528
Al 2,132
01 A 2&HSE 2 (FREETR) 10,660 15,375 24,715
HAESRE Oots2d=sH & N2 10,660
= 8,528
Al 2,132
ENIN b= 1,025,000 1,166,000 A141,000
Al 549,000
- 476,000
201 Ler2 | 2,000 2,000
01 At 2telt] 2,000 2,000
MY ER 2,000
301 LEtBNEF 1,023,000 1,164,000 A141,000
Al 549,000
- 474,000
02 MBI B2 (HUAS, NLTHEA) 1,023,000 0 1,023,000
EaONEE 549,000
Al 549,000




OIS Xt
HE=RX 8
S EIE S-S TE e mel)
SA - BB . o9l(31H) ol ke A HimE=T
SMEAHZ 474,000
=M 200, 0002 450 *60% 54,000
ARolI= 10,000, 000& *70H *60% 420,000
Aot 0l=A 2,920,000 2,176,000 744,000
= 2,190,000
Al 365,000
- 365,000
308 RXIHMSOIH 2,920,000 0 2,920,000
= 2,190,000
Al 365,000
- 365,000
13 SISO HEHE & H AL 2,920,000 0 2,920,000
Hotg ols# 2,920,000
= 2,190,000
Al 365,000
- 365,000
ool XIE At 5,440,063 4,070,002 1,370,061
= 3,700,928
Al 1,008,462
- 735,673
307 QI2HOl A 5,440,063 4,070,002 1,370,061
= 3,700,928
Al 1,003,462
- 735,673
11 ASI=SXAIEEE 5,440,063 4,070,002 1,370,061
Ot0lIE== KI&ALE 5,440,063
= 3,700,928
Al 1,003,462
- 735,673
A4 Ot0lESsSMHIA K& 2,279 5,857 A3,578
= 1,59
Al 684
307 QI2H0| A 2,279 5,857 23,578
= 1,595
Al 684
1 ARSI =XAIEE X 2,279 5,857 A3,578
A& Ot0ISSMEIA IR 2,279
= 1,595
Al 684
Ct=23tE XIE At 2,400 2,400 0
201 23| 2,400 2,400
01 ArR22ltl 2,400 2,400




SA F2US
33 d=A &
ool old@ol B U JbE=T| (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CtEaENEglls 2
100,000 x4 400
CI23t B EE ALY 2,000
CHEsEANZEH 24 298,640 298,640 0
= 149,320
Al 149,320
307 212+01& 298,640 298,640 0
= 149,320
Al 149,320
10 Al2IS XA EEE 22X 298,640 298,640 0
CHEaIEX2ME 28 X3 298,640
= 149,320
Al 149,320
CHEaEXZdE 28 A8l X2 7,977 7,977 0
Al 7,977
307 glztol & 7,977 7,977 0
Al 7,977
10 Al SXAEEE 22X 7,977 7,977 0
PISXISEE SAL SKIEZE 2,100
Al 2,100
CHE2EXJAME SAEL Al E 5,877
Al 5,877
CH22HS Atdi2tel I 37,017 37,017 0
= 18,509
Al 18,508
307 @120l & 37,017 37,017 0
= 18,509
Al 18,508
10 Al2ISTIAEEE2HIE X 37,017 37,017 0
CI23t0tS Atdl2tel X 37,017
= 18,509
Al 18,508
ZE0I12A SHAAHIAAY 32,813 32,813 0
= 16,406
Al 16,407
307 el2to| & 32,813 32,813 0
= 16,406
Al 16,407
10 Al SXAI2EE 22X 32,813 32,813 0
ZE0[12A SHAMHIAAS 32,813
= 16,406
Al 16,407
Z220/2A L2 24,500 24,500 0




SN OISR D
33 d=A &
el odAey S 2 OESK (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 12,250
Al 12,250
307 lztol & 24,500 24,500 0
= 12,250
Al 12,250
10 Al SXAAEEHE2EHI2x 24,500 24,500 0
Z2E0|1UA LA 24,500
= 12,250
Al 12,250
ZE0I1UA StEME XA 4,000 4,000 0
Al 4,000
307 el2tol & 4,000 4,000 0
Al 4,000
11 AMEISXAEEES 4,000 4,000 0
202X stEAE NIRAAE 4,000
Al 4,000
Aoee X2 At 78,688 78,688 0
= 39,344
Al 39,344
307 glztol & 78,688 78,688 0
= 39,344
Al 39,344
10 Al SXAAIEEHE2EHI2x 78,688 78,688 0
CrE=DEEAE doeE Xa 78,688
= 39,344
Al 39,344
OISAOIIEEE 9 A 35,031 35,031 0
= 17,516
Al 17,515
307 212+01& 35,031 35,031 0
= 17,516
Al 17,515
10 Al SXAEEHE2EHI2x 35,031 35,031 0
Ols2oitEed &d At 35,031
= 17,516
Al 17,515
AHgs & MHdE S 22uSs MblA N3 165,735 165,735 0
= 82,868
Al 82,867
307 @I2t01 & 165,735 165,735 0
= 82,868
Al 82,867
10 Al2ISTIAIEEE 22X 165,735 165,735 0
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SN OISR D
33 d=A &
el odAey S 2 OESK (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 15,000 15,000
03 Ar=EHI 15,000 15,000
SMEH JIEEA =8 15,000
NASE Mg g9 Zat 13,916,989 13,338,201 578,788
= 11,476,027
= 641,877
Al 1,207,400
T 591,685
A 28 € X 13,916,989 13,338,201 578,788
= 11,476,027
[ 641,877
Al 1,207,400
- 501,685
A2 Z A 10,045,415 9,309,058 736,357
= 9,040,874
Al 703,179
- 301,362
201 Ler=23| 15,000 15,000 0
= 13,500
Al 1,050
T 450
01 At2teltl 15,000 15,000 0
g2z 22 7Y 2 ASUSH S 15,000
= 13,500
Al 1,050
= 450
301 EtE NS 10,030,415 9,294,058 736,357
= 9,027,374
Al 702,129
- 300,912
01 AR 2EHSHS(RNEXRTH) 10,030,415 9,294,058 736,357
AEZZAY 10,030,415
= 9,027,374
Al 702,129
- 300,912
NS XHEHE KHE At 2 62,954 61,415 1,539
= 44,068
Al 13,222
- 5,664
307 @12t01 & 62,954 61,415 1,539
[ 44,068
Al 13,222
- 5,664




SN OISR
M MASE U2 95 2ot
Rl A 29 € A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 62,954 61,415 1,539
NS R2HE K2 Arell2tel 62,954
= 44,068
Al 13,222
- 5,664
NS X2HE 249 K& 894,014 850,006 44,008
= 625,810
Al 187,742
- 80,462
307 212+01& 8%4,014 850,006 44,008
= 625,810
Al 187,742
- 80,462
10 Al SXAEEE 22X 8%4,014 850,006 44,008
XS TEHE 22 894,014
= 625,810
Al 187,742
- 80,462
NS A2HEH 23 SX=g A 50,052 64,705 14,653
Al 35,517
- 14,535
307 212+01& 50,052 64,705 14,653
Al 35,517
T 14,535
10 Al SXAIEEHE2EHI2x 50,052 64,705 14,653
NS 3 sX+g 50,052
Al 35,517
- 14,535
JHAE- 2t SEXE At 854,013 826,488 27,525
[ 597,809
Al 128,102
- 128,102
308 AHXIEMSOIE 854,013 826,488 27,525
= 597,809
Al 128,102
T 128,102
18 SIS0t & A AS A 854,013 826,488 27,525
JhArE 22X ALY 854,013
= 597,809
Al 128,102
- 128,102
ZE2SEUAS =542 s XAAMNY 2,010,541 2,221,229 A210,688
= 1,809,343




SA F2US
M LSS NE &Y 2
Sl XA 28 2 X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 139,638
T 61,560
307 lztol & 2,010,541 2,221,229 210,688
= 1,809,343
Al 139,638
- 61,560
05 2ItRIE = 2,010,541 2,221,229 A210,688
s|PII=SHI 44,830
= 40,201
Al 3,240
- 1,389
S|AINSSEI 30,000
= 27,000
Al 2,100
- 900
Heoi=s 20,000
= 18,000
Al 1,400
- 600
FH3YI|I=SEH 35,000
= 31,500
Al 2,450
- 1,050
HE =A% 40,000
= 36,000
Al 2,800
- 1,200
SIL M= AHIEH 332,986
= 299,689
Al 23,307
- 9,990
SIS FAIEH | 69,580
= 62,622
Al 4,871
- 2,087
HEHUWL XS HZHXHA2(018}) 1,227,880
= 1,105,092
Al 84,752
- 38,036
HEHUWL S HZH XA =1) 210,265
= 189,239
Al 14,718
- 6,308




SA FUS
M B2 (FU=X )
s Jl=dhl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AY2LZHI(F=A ) 63,104 56,696 6,408
=8l 63,104 56,696 6,408
JI=23Hl 63,104 56,696 6,408
201 fer= 3| 16,988 15,152 1,836
01 At 2t 16,988 15,152 1,836
FAEEH| 3,100,000 *95% 2,945
el EU JtECIX 194,700  10H 1,947
= R=dgall
8,000 x6A*x21&x 12 12,096
202 04dl 42,336 38,304 4,032
01 2L AL 42,336 38,304 4,032
2@ 230 280,000 x21&* 123 +60% 42,336
203 =4l 3,780 3,240 540
M FA2ELRFAI 3,780 3,240 540

350, 000& * 122 »90% 3,780




